1 tecitkshonn, 5T isthe dameterand m 28 = 12,
Whats the messureof 44807

A1 . 6

Chord Properties

f two chords are
congruent, then their
corresponding arcs
are congruent.

&

Find the length of WX.

and
Segments Lengths
in Circles
Solve for x. Chods = .
SO s =
8x -7 33X +3
IR-T= 3343
-3¢ 1Y -3 1Y
S5y=10
¥ =
- ,“_‘\\
Find mAB
360 ~ 100040
ol
e
1004 ax =360

A= 130




If two chords are
congruent, then they
are equidistant from
the center.

clant adolp
f a diameter is perpendigulér D

o a chord, then it also bisects

e chord. NMa e4vo
Rosts

is results in congruent arcs too.

Sometimes, this creates a right

triangle & you’ll use _ﬂﬁ%ﬂﬂ
:\-im,m

In ®P, if PM L AT, PT =10,
ond PM = 8, findl AT. c

In @K, Kis the midpoint of RE. If
TY = -3x + 56 and US = 4x, find the
length of TY.

u - _
: 3)(+56,—~‘-J}(
. 26 = 7x
0 T kg

W g

T)= -2(%)56

INOQ KL=1Z. IfCK =2x + 3
and CI = 4x, find x.

Find the length of CE




Properties of Chords

Use the following image for problems 1 and 2.

I ¢
Ne
N /ch
G)If mﬂ?: 100°, what is mDC?
\OO

@If mAB = 67° and mBC =,3.‘{What is the mAD?
CTH3SH6eT+ m Ltg_::sgo
mAD =Q(

Use the following image for questions 3 and 4.

@f CD = AB, mEG = 12 yd., what is the mEF?

IR
@fﬁ = EF and mAB = 24 m, what is the mCD?
=2y GD=Ix

Use the following image for questions 5 and 6.

5. If mAB = 98°, mAB = 14 ft.and mCD = ‘3'8‘;',(_r
what is the mCD? ActS = <o Q’L«ts(‘éﬂ. =

Iy

6. if mAB = mCD, mAC = 104°,and mBD = 100°__
what is the mAB?

[0d 1§ (004 2X=3(0

2044 Ix =360

dx =54
:T‘?’

Name Date

7. How could you determine thatBE = CD in the
following image? B

BeCauit Con rw:rﬁ’

oS Loom tham

E D
Use the following image for the problems 8, 9 and 10.

CG{\S{‘ ey rCSAg+CD
Y

8. If mDB = 92°, what is mDC?

- -y
6"21{@ So mDC

9. If the mOE = 10 cm and mOA = 15 cm, what is the
BE? —_
mBE: (5 -10 "‘5cm.: mBE

10. If mAB = 10 in. , mEB = 2 in., what is the mDE?

‘Z_; >(=‘| or 3+y*=gt
pith-1r. 9+ X 225
3 X= Hip

Use the following image for problems 11, 12 and 13.

11. If mPQ = 15 in., what is the mRB?
The Chords art = 6nd bISEQi{_f} so
B 1S hlf PR, LRR=T75in
12.1f mPQ = 90°, m03S = 140°, what is the mRP?
G0 +140+90+%x=330
20 +x =30
3 X= Yo'= MR?

13. If mOB = 10 cm and mAQ = 24 ¢m, what is m0Q?

(note: BQis not drawn, but you may draw it in)
0>+ Y . = X*
004576 = ¥*

26~ %

= (D) =Igy*



Properties of Chords

Use the following image for problems 14 and 15.

_1
mlﬁﬁ: 2x + 27 and mDC = 4x — 39 What is

\
N
2
value of x? D_i.}g:r :!-“._‘&a'

X=33
@m.ﬁ = 67° and mAD = 135°. What is the
POu5He T+ +x= 360

x= 90

following im r ns 16-18.

8
CD=AB, mEG =x+9, and mEF =9x — 7
\Wikat is the value of x?

14 =4x-7

| X =
ﬁ = and mBF = 8x + 8 what is the
SR (LA 5

l0(2)1=35 3
AB= 0

18. If EG = EF and mCD = 4x + 15 and

mAB = 6x — 21, what is the value of x?

Uxd 15 = Gy |
36z 2Y«
13 = Y

Name Date

19. How could you determine that BE = CD in the
following image?

B
The Centeol ar\j‘lS / \C

ace = ¢p thele .
Co(rﬁsfoﬂal Arts = F
The dhorde BE ad TD Hhe Fobas de occs

Use the following image for the problems 20-22. 1., ;.| L, ©

20.1f mDB = 14x — 12 and mCB = 2x + 36, what is

mbe? %2 = 2x¥36  2(p13C= 4
ILx =4§
Y=\ } mDC 358
21. If the radius of the circle is 15 m and mDE = .
what is the mOE? |24 XL~ 5%
19443 = 05
X*+= ¢

22.1f mOE =5 and mOA = 13, what is the mDC?
) 1 r _—
+.Dt = -
2 _._.—Dl ‘5 MDE - D"
wDE “ = 1YYy wOC = QL‘

Use the following image for problems 23 and 24.

If mPQ = 5x + 2 and mRS = 3x + 12 what is the
RB?

@f mPQ = 87°, mRP = 43°and mQS = 7x + 3

| What is the value of x?
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Radius and Chord Date Period

Find the length of the segment indicated. Round your answer to the nearest tenth if necessary.

Y4137 MG / mé,a (742

V2 4181.69= 21316 P 2624y =307
l - 2597 17 ﬂl ~Ug.3)

Y =(25

\/-5 - )
b X M6-5.65=9.G %= [14-¢35 =1
<

By - 7™
134 '7?é+y = 26.09
V= 36.43
x= 11244 : y=60f
_ 19.7-¢04=X
XK= 03 5 66 =¥

V(0609 = |25
Yl = 9.25
Y= 437

/

Y”uo.s’: 12"



o 1
2,6.2%= (I 9

1
-\5
B B\t g2z
P+ gl |‘;13.17\ » ) ;\9\‘;,’,“15
, \,2:5‘35 A

\[z'*:.%.?'q

7

‘]’ = 6.2l \=-9.95
*:5-8.85=

=1 1- ¢\ = 4.89 )
&gez>

g2 +H= 05"
65 "\ gtod =105
YQ:. 25.6l




